
DATEDATE

DATEDATE

DATEDATE

APPROVED/RELEASED

DATECHKDBYCHANGE DESCRIPTIONSYM

REVISIONS DO NOT SCALE DRAWING

ACCORDANCE WITH LATEST ANSI Y14.5
DIMENSIONING & TOLERANCING IN

ACCORDANCE WITH LATEST ANSI B46.1
SURFACE TEXTURE TO BE IN

BREAK SHARP EDGES .03 MAX.
REMOVE ALL BURRS AND

SURFACE ROUGHNESS

.XXX  –

.XX   –
–.X    –

ANGULARDECIMALS

TOLERANCES

ALL DIMENSIONS ARE IN INCHES
UNLESS OTHERWISE SPECIFIED:

RESPONSIBLE ENGINEER

DESIGNER

CHECKED BY

DATEDRAWN BY

MATERIAL

LOG NUMBER

PROJECT MGR.

GP LEADER

DATECHIEF DESIGN ENGINEER

SCALE

SHEET OF

SIZE DRAWING NUMBER

TITLE

ADVANCED PHOTON SOURCE

THIS DRAWING IS THE PROPERTY OF

U
N

I V ER S I T Y

O
A

CIHCFO

Y
R

OT
A

ROBALLANOITAN
E

N
N

O
G

R
A

G

ARGONNE NATIONAL LABORATORY

PARTS LIST

ITEM DWG/PART NUMBER NOMENCLATURE OR DESCRIPTION MATERIAL / SPEC QTY

8 7 6 5 4 3 2 1

A

B

C

D

E

F

G

H

12345678

H

G

F

E

D

C

B

A

T6370200-00

T6-370200-00

T6-37
DOUBLE MULTILAYER

MONOCHROMATOR
200mm TRAVEL MOTOR ASSEMBLY

SEE PARTS LIST

.1 [2.5]

.01 [0.25]

.005 [0.13]

0°30’

125

1:1

E1 1

P4105090506-210104

#10-32 UNF-2A x .50 LG. FLAT HD.C.S. STAINLESS STEEL 4

T6-21 ADAPTER PLATE 1

T6-37 ROD CLAMP 1

T6-37 SWITCH ROD 12.0 LG 1

T6-21 MICRO SWITCH BRACKET 1

#2-56 UNC-2A x .38 LG. S.H.C.S. STAINLESS STEEL 4

23F4372 SWITCH, SM SERIES TYPE 111SM1-T 2

�.250-20 UNC-2A x1.0 LG. S.H.C.S. STAINLESS STEEL 4

90313A104 #10 FENDER WASHER 2

M5-.8 6H HEX JAM NUT STAINLESS STEEL 6

COMMERCIAL STD Ø.125 x .50 LG. DOWEL PIN STAINLESS STEEL 2

POTENTIOMETER 1HLP190BC12008K
200mm STROKE

P4105090506-210101

T6-370202

T6-370103

18 GAGE WIRE ARSEE NOTE 2

REF.

28

28

SEE NOTE 3

30

13

18

29

8

2115

REF

29

REF

27

3

9

19

25

HCR-100-10-8 ZERO BACKLASH COUPLING 1

MO63-LS06E
D.C. STEPPER MOTOR N.E.M.A. #23D 1

CONNECTOR BODY 1

#6-32 UNC-3A x .38 LG. S.H.C.S. STAINLESS STEEL 2

T4-31 CONNECTOR BRACKET 1

T4-31 MOTOR MOUNTING BLOCK 1

B10-11 FLANGE MOUNT STYLE BEARING UNIT 1

#10-32 UNC-3A x .63 LG. S.H.C.S. STAINLESS STEEL 4

#10 LOCKWASHER STAINLESS STEEL

#8-32 UNC-3A x .50 LG. S.H.C.S. STAINLESS STEEL 4

1 T6-37 DRIVE SCREW FLANGE SEE DETAIL 1

BRONZE NUT, 1/2-20 "V" THD.
2

T6-37 DRIVE SCREW 11.5 SCREW LENGTH 1

BN5020, REF# HO11908

W/STANDARD FLATS

CONTACTS

Ø.125 x 1.0 LG. DOWEL PIN 2

P4105090504-310001

P4105090504-310002

T4-31 SHAFT SPACER 1P4105090504-310005

#2-56 X .50 FILLISTER HD MACH SCR STAINLESS STEEL 4

00-8016-020-000-601

60-8017-03-13-300-339

P4105090506-370101

.12 [3.05]

(SEE NOTE 2)

LEFT NUT MUST BE FLUSH AGAINST MOUNTING BLOCK

BACKLASH THEN PIN AS SHOWN. (BOTH NUTS)
HAND ADJUST RIGHT NUT TO ELIMINATE AXIAL

ASSEMBLY NOTE:

2x Ø.125 P.F. THRU

GAP MUST NOT EXCEED

(12" LEADS)

17

LEADS TO BACK

SEE WIRE CONNECTIONS
OF CONNECTOR

2

SEE NOTE 2

T6-3702012

3

4

5

6

9

8

7

SEE DETAIL

SEE DETAIL

SEE DETAIL

SEE DETAIL

SEE DETAIL

SEE DETAIL

SEE DETAIL

SEE DETAIL

18

12

11

15

14

13

10

17

16

STAINLESS STEELCOMMERCIAL STD

COMMERCIAL STD

COMMERCIAL STD

COMMERCIAL STD

COMMERCIAL STD

COMMERCIAL STD

COMMERCIAL STD

COMMERCIAL STD

COMMERCIAL STD

COMMERCIAL STD

19

20

21

22

23

24

25

26

27

28

29

30

1

2

2

3

4

5

6

6

7

1 SUPERIOR ELECTRIC
383 MIDDLE ST.
BRISTOL, CT 06010
PHONE: (203) 585-4500
FAX:   (203) 589-2136

2 BALL SCREWS & ACTUATORS CO. INC.
3616 SNELL AVENUE
SAN JOSE, CA. 95136-1305
PHONE: (800) 882-8857
FAX:   (408) 629-2620

3 PENNY + GILES CONTROLS INC.
163 PLEASANT ST.
ATTLEBORO, MA 02703
PHONE: (508) 226-3008
FAX:   (509) 226-5208

4 HELICAL PRODUCT COMPANY, INC.
901 W. McCOY LANE P.O. BOX 1069
SANTA MARIA, CA. 93456
PHONE: (805) 928-3851
FAX:   (805) 928-2369

12

10

5 NEWARK ELECTRONICS
625 PLAINFIELD RD.
WILLOWBROOK, IL 60521
PHONE: (630) 654-8250
FAX:   (630) 654-8270

6 ELCO CORPORATION
HUNTINGDON INDUSTRIAL PARK
HUNTINGDON, PA 16652
PHONE: (800) 653-3526
FAX:   (814) 643-0426

7 MCMASTER-CARR
P.O. BOX 4355
CHICAGO, IL. 60680-4355
PHONE: (630) 833-0300
FAX:   (630) 834-9427

SOURCES

10
1

20

12

27
REF

16 22

235

26 27 11 24

12
REF

20
REF

14

TIGHTEN LOCK NUT
TO 8.2 IN. LBS. 7

6

4

6.013 [152.74]

5.507 [139.88]

(2.94 [74.65])9.24 [234.71]

    MUST MATCH THREAD ON DRIVE SCREW (ITEM #2).

           A. IRRADIATED PVC INSULATED WIRE
ITEM 30 @ ASSEMBLY SOLDER WITH KESTER 60/40 SOLDER

    ALL DIMENSIONS SHOWN IN [ ] ARE MILLIMETERS.

NOTES:

    THREAD ON BRONZE NUT (ITEM #12)

           A. 80° C RATED

           C. PVC INSULATED
           B. 18 GAGE STRANDED COPPER WIRE

3.  ITEM 30 SHALL BE,

ITEM 30 SHALL NOT BE,

    2.

    1.

RED

GREEN/WHITE

PIN #

SLO-SYN MOTOR WIRE CONNECTIONS TO CONNECTOR  16

WHITEJ

MICRO SWITCH  15  WIRE CONNECTIONS TO CONNECTOR  16

PIN #

X
U

T
W

---
---

C
NC

CW LIMIT

NC
C

---
---

CCW LIMIT
TERMINAL

B

E
F
H

C
D

A

BLACK

WHITE
BLACK

GREEN

RED/WHITE
TERMINAL

WIRE COLOR

WHITE

RED

WIRE COLOR

BLACK
WHITE

K. Costello 3-29-97

J. Barraza 3/31/97

Costello/Barraza 3-29-97

J. Barraza 3/31/97

D. Shu 04/02/97

T.M. Kuzay 4-3-97


